Una HEIGHT ADJUSTABLE ROUND TABLE
INSTALLATION GUIDE

SUGGESTED MINIMUM CREW: 2
APPROXIMATE INSTALL TIME: 30 min

TOOLS REQUIRED: HARDWARE:

4mm Hex Key 1/47-20 x 7/8”

Phillips Screwdriver / Bit J/oiner Bolt/ @

Drill %
#6 x 5/8” Pan
Head Wood E
Screw

(o)

Place top face down on a protective surface and align
Mounting Plate through holes with threaded inserts installed
in top. Secure with 1/4”-20 x 7/8” Joiner Bolts (x6).

Once device is installed in top, guide cables down into base
while aligning threaded holes in the top Mounting Plate with
the through holes in Base Mounting Ring. Secure to plate
with 1/47-20 x 7/8 Joiner Bolts (x4).

Use #6 x 11/4”” Pan Head Wood Screw (x2) To secure the
height adjustable switch. To keep wire from hanging down
install Wire Guide (x1) to the underside of the top with #6 x
5/8” pan Head Wood Screw (x1).

Customer Support: 1.800.668.9318

#6 x 11/4” Pan
Head Wood

Screw

Wire Guide

If your installation includes a Power & Connectivity device,
it is critical that the unit is installed into the top before
mounting to base. Do so by following the instructions
supplied with the device.

- -m
THIS IS A GENERAL ASSEMBLY GUIDE, NOT ALL CONDITIONS MAY APPLY TO YOUR k
Email: mail@nienkamper.com PARTICULAR INSTALLATION. n Ien amper

Web: www.nienkamper.com

International Inc.



